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Sr. No. Section –A(MCQBased) Marks 

 fn, x, fodYiksa ls lgh mrj nsaA Marks as per 

Point 

20 

1 ¼x½ Mk- ,- ih- ts vCnqy dyke  (C) Dr. A.P.J. Abdul 

Kalam 

1 vad  

2  ¼[k½ 16 uoEcj 1949  (C) 16 November, 1949 1 vad  

3 ¼d½ “;ke th d`’.k oekZ (A) Shyam Ji Krishan Verma 1 vad  

4  ¼d½  lqHkk’k pUnz cksl   (A)Subhash Chander Bose 1 vad  

5  ¼x½ 24(C) 24 1 vad  

6  ¼x½ ekugs:(C) Manehuru 1 vad  

7 ¼d½  ouks dks dkVuk(A) Deforestation 1 vad  

8  ¼x½  VwVh dksju (B) Turicorin 1 vad  

9  ¼?k½ csaxyw: (D) Bengaluru 1 vad  

10  ¼?k½ 74 izfr”kr  (D) 74% 1 vad  

11  ¼?k½ mijksDr lHkh(D) All of the above 1 vad  

12 ¼[k½  2(B) 2 1 vad  

13 ¼d½ Hkkjr(A) Bharat 1 vad  

 

14 ¼?k½ 33 izfr”kr  (D) 33% 1 vad  

15 ¼[k½ 79-8 izfr”kr  (B) 79.8% 1 vad  

16 ¼[k½ ,dnyh; O;oLFkk(C) One Party System 1 vad  

17 ¼x½ fuoy mifLFkfr vuqikr(C) Net absence ratio 1 vad  

18 ¼[k½ vius [ksr esa dke djrk fdlku(B) A farmer 

irrigates his fields.  

1 vad  

19 ¼x½ ekfyd (C) Owner 1 vad  

20 ¼[k½ 15 ekpZ(B)  15 March 1 vad  



 

Section – B                                 M. M = 2 x 6 = 12 

21- lqesj ds uxjksa esa fijkfeM ds vkdkj ds mPps eafnjksa dks ftxqjkr dgk tkrk 

FkkA The high pyramid shaped templates in the cities of Sumer called ziggurats. 

          1 + 1  = 2vad 

22- osn] czkã.k] vkj.;d]mifu’knA Veda, Brahman, Arnyaka, Upanishad.  

          1 + 1  = 2vad 

23- tks ifj;kstuk,a ,d ls vf/kd mn~ns”;ksa dh iwfrZ ds fy, cukbZ tkrh gSA 

Projects which are made to fulfil more thatn on purpose.  1 + 1  = 2vad 

24- 1- vf/kd iSnkokj nsus okys chtA 2- jklk;fud moZjdksa vkSj dhVuk”kdkas ds 

iz;ksx ls O;kikfjd n`f’V ls dh tkus okyh d`f’k dks okf.kfT;d d`f’k dgrs gSA 

i. Agriculture done commercillay with the use of high yielding seeds. ii. Chemical 

fertilizers and pesticies is called commercial agriculture.   1 + 1  = 2vad 

25- ftu dk;ZLFkyksa ij dk;Z djus] jkstxkj] osru  fu;fer o fuf”pr gksrk gS 

laxfBr {ks=d dgykrk gSA 

 The workplases where work employment and salary are fixed are called 

organized sectors.        1 + 1  = 2vad 

26- ,d tkfr] Hkk’kk ;k lkaLd`frd yksxks }kjk pquh xbZ ljdkjA Governement 

elected by people of one race language or culture.  

Section C     4 x 2 = 8 

27- rhu Lrj 1- dsUnz 2- jkT;  3- LFkkuh;   

Thre levels i. Centre .ii. State. iii. Local   1 + 1 + 1 + 1  = 4vad 

28- 1- r`rh;d {ks=d  2- izkFkfed {ks=d   3- r`rh;d 4- r`rh;d{ks=d   

i. Tertiary Sector  ii.  Primary  Sector iii. Tertiary.iv. Tertiary Sector    

        1 + 1 + 1 + 1  = 4vad 

Section D     3 x 5 = 15 

29- 12 ekpZ 1930 dks lfou; voKk vkUnksyu nkaMh ekpZ ls gh “kq: fd;k Fkk 

lkcjerh vkJe ls nkaMh rd 240 fnu dh ;k=k 24 fnu esa 78 vuq;kf;;ksa ds 



lkFk 6 vizSy 1930 dks nkaMh igqapdj ued dkuwu rksMkA Civil lisobetience 

movement was started from Dandi March on 12 March 1930. Gandhi ji broke the 

salt law by reaching Dandhi with 78 followssin 24 datys on 6 April 1930 a 240 

day jouryney from Sabarmati to Dandi.     1 + 1 + 1  = 3vad 

30- 1- iap”khy  2- xqVfujis{krk  3- LorU= fons”k uhfr 4- jk’Vªfgr loksZifj 

i. Panchsheel .  ii. Non-alignment. iii. Independen foreign policy   iv. national 

Interest paramount.      1 + 1 + 1  = 3vad 

31- 1- m/kksxks dks dPpk eky d`f’k ls izkIr gksrk gSA  2- m/kksx Hkh d`f’k esa ubZ 

rduhd dks c<kok nsrs gSA  3- j{kd eks[kyk cukuk 4- ufn;ksa fdukjs isM+ 

yxkukA i. Industries get raw materials from agriculture.   ii. Industries also 

promote new technology in agriculture.   1 + 1 + 1  = 3vad 

32- 1- 50 izfr”kr lM+ds dPph gSA  2- jk’Vªh; jktekxksZa dh la[;k de gSA  3- 

xq.kork iw.kZ lM+ds ugha gSA 

i. More than 50% roads are unpoved.  ii. The number of National Highways is 

less.   iii. There are no quality roads.     1 + 1 + 1  = 3vad 

33- dsUnz vkSj jkT; Lrj ij i. At central and State level. 1 + 1 + 1  = 3vad 

Section E     5 x 4 = 20 

34- 1- xk¡oksa dh Lokoyach vFkZO;oLFkk dk fNUu&fHkUu gksukA 2- Hkkjr dk vkfFkZd 

“kks’k.kA 3- gLrf”kYi m/kksxks dk iruA 4- fu;kZr dh vis{kk vk;kr dks c<+kokA 

5- if”peh f”k{kk ykxw gksuk 

 i. Disintegratiic not the self relivant economy of the village. ii. Economic 

exploitation of India. iii. Decline of handicraft industries. iv. Promotion of 

imports gather than expors. v. Introduction of western education.  

vFkok 

 1- vaxzsth daiuh dh “kks’k.kdkjh uhfr;k¡A 2- gLrf”kYi m/kksxks dk u’V gksukA 3- 

lkekftd o lSfud HksnHkkoA 4- /keZ vkSj laLd`fr dk migkl 5- pchZ okys 

dkjrwlA 



 i. Explaitative policies of the English Company. ii. Destruction of Handi 

industries.  iii. Social and military discrimination.  iv. Mockery of reigion and 

culture. v. Grease Cartidges.      2 + 3 = 5vad 

35- 1- rkieku 10
0
 ls 20

0
 rd mi;qDrA 2- 50 ls 75 ls- eh- o’kkZ dh vko”;drk 

3- lery Hkwfe 4- nkseV feV~Vh vf/kd mi;ksxh 5- vf/kd Je o iwath dh 

vko”;drkA  

 i. Suitable for temperature 10
0
 to 20

0
.   ii. 50 to 75cm rainfall required.  iii. Falt 

Land iv. Loamy soil is more sueful. v. Capital required for more labour.  

         2 + 3 = 5vad 

vFkok 

 1- Fkkj e:LFky Hkkjr dk lcls cM+k laHkkfor {ks=A 2- ek/kksiqj esa Hkkjr dk 

lcls cM+k la;=A  3- xzkeh.k vkSj lqnwj {ks=kksa esa lkSj mtkZ laHkkoukA 4- ?kjsyw 

vkSj lM+dksa ij izdk”k ds fy, iz;ksxA i. Thar desert is the largest potential area 

of India.   ii. India’s largest plant in Mathopur.  iii. Potential of solar energy 

inrural and remote areas. iv. Use for domestic and street lighting.  

36- 1- turk ds pqus gq, izfrfu/kh gksrs gSA 2- turk ds vuq:I uhfr fuekZ.k djrs 

gSA  3- lkaln turk ds izfr mÙkjnk;h 4- fu;fer pquko 5- cgqer dk “kklui. 

There are elected representatives or the public.  ii. Make policies according to the 

people.  iii. M.P.’s are accountable to the public.  iii. Regular Elections. iv. 

Majority rule.       2 + 3 = 5vad 

vFkok 

1- fu’i{k pquko iz.kkyhA 2-;ksX; O;fDr dk pquko gksA  

3- tuer dk lEeku 4- Lora= pquko vk;ksx 5- jktuhfrd tkx:drk  

i. Fair Election System. ii. A qualified person should be selected. iii. Repect for 

public opinion .iv. Independent Election commission  v. Political awareness.  

37- 1- yksxks dh tekiwath dks lqjf{kr j[krs gSA 2- tek iwath ij C;kt nsrk gSA 3- 

de C;kt ij _.k miyC/k djkrs gSA 4- cSad yksxks dks jkstxkj nsrs gSA 5- ?kj 

vkSj m/kksx ds fy, _.k nsrs gSaA i. Banks keep people’s deposits safe. ii. Pays 



interest on deposited capital. iii. Provide loans at low interest.  iv. Banks provide 

employment to people. v. Give loans for home and industries. 2 + 3 = 5vad 

vFkok 

  1- oS”ohdj.k ls /kuh miHkksDrk dks gh Qk;nk gqvk gSA 2- izfrLi/kkZ ls NksVs 

mRiknd vkSj Jfed izHkkfor gq,A 3- oS”ohdj.k ls xzkeh.k ds vis{kk “kgjksa dks 

vf/kd Qk;nk gqvkA 4- f”kf{kr vkSj dq”ky yksxkas dks vf/kd Qk;nk gqvk gSA  

i. Only rich consumers have benefied from globalization.  ii. Small producers and 

workers have been affected by competition. iii. Cities have benefited more from 

globalization than rural areas.  iv. Educated and skilled people have benefited 

more.  

  

38-           2 + 3  = 5vad 

 


